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[A]

T O 7 R (CHILD DEVELOPMENT AND PEDAGOGY)
ﬁ?@r:@’?ﬂ%ﬁm#%mé‘# # fv gad T Re g

Direction : Answer the following questions by selecting the most appropriate option. -
——7Cr (he following
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g
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Level-2/201

1.

[

g

Out of the following which one is

the wrong statement in context of

characteristics and nature of guidance ?

(1) Guidance is assisting the
individual'to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

Guidance,
(3) Guidance is helping the
individual ~ himself through

others efforts only.
(4) Guidance is assisting an
individual to find his place.

A type of thinking in which one's
interpret sensation with experience is
known'as what ?

(1) Reflective thinking

(2) Perceptual thinking

(3) Creative thinking

(4) Critical thinking

Out of the following which one of
the statement is wrong in context of
characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage of time and they may

~even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual
comprehension.

P.T.O.
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(4) 5T @ A
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(3) AATEN (4) &ea

Frfafea & & #F-a1 @ & d@ed
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(3) oo R, uvEedl faee @
e & Sumer wEeqe A ¥
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Which is the oldest method for the
study of behaviour 7

(1) Experimental method

(2) Clinical method

(3) Psycho-physical method

(4) Introspection method

Out of the following which one 15
wrong characteristic of Delinquents ?
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing

(4) Aesthanic in c_unstitulion

Which one of the following is the

correct logical order of obscwatlopa]

learning process according Learning

Theory of Bandura ? .

(1) Attentional — Rcl{:nupnai —
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Auentional — Retentional —
Production — Motivational

Who stated that "Personality is _the
sum total of innate and acquired

dispositions” ?
(1) Mortin Prince
(3) Valentine

Which one of the following is false

statement in context of Development ?

(1) Development involves change.

(2) The development pattern is
unpredictable.

(3) Early development is more
critical than later development.

(4) Development is the product of
maturation and learning.

(2) Allport
(4) Cattell
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(5) (R)
9 mmﬁﬁm T 33151 A g 9. Girls Surpass boys physically in :
(1) demmang 3§ (1) Infancy
(2) SUT S i (2) Later childhood
(3) T Fearern & (3) Early childhgod
(4) ReRraen §

(4) Adolescence

10. Out of the following which one is

t? the subject matter for study of
' Gestalt Psychologist ?

(1) ST wfdramd (1) Cognitive processes
(2} aﬁ:ﬂ '[2} CGHSCiGusness -
(3) 'ﬂ"ﬂ'\“fﬁﬁq 8 T oiX aen (3) Mental  and  behavioural
BIETIY processes a wholes
(4) RaE & T8 o Foed (4) Modes and problems of
existence
11. wefReat 3 g ovE & wme I 11. What did Freud consider the paternal
Rred e R & 2 love of girls ?
(1) 9T 9= oy (1) Oedipus complex
(2) soaeT WrEAT AR (2) Electra complex
(3) WY HIGT (3) Narcissisn:n
(4) Treiam &t wrEeT (4) Feeling of dependence
l2. FH-FH smeet A $ a9 12. Sometimes the children of gifted
HYA Are-Rar @t g 7 g B parents are born with less intelligence
Y 5 dd & orgar THF S Ieer than their parents or vice versa,
gl 8, 9% duTgH H de-a fraw which Law of Heredity is called ?

(1) Law of Regression
(2) Law of Selective Traits

(2) =af T = R (3) Law of Maternal and Paternal
{3)‘?@3%@%‘[&@1 Lines

5] 4T & foam (4) Law of Chance
Level-2/201 | 3 P.T.O,
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[6]

13 Wwhich of .the following is the

characteristic of introverted thinking

type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectua)
pursuil -

(3) Supports theory with facts

(4) Propagates his views
insistence and vehemence

with

Out of the following which is correct
sequence given by James Lange's

“"Theory of Emotions” ?

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state —
Bodily expressions

(3) Situation —>» Baodily expressions
—» Mental state

(4) Situation —> Mental state —
Bodily disturbance

Out of the following which one is
not the characteristic of insight 7
(1) Incidental

(2) Response in novel situation

(3) Habit strength

(4) Response spontaneity

Out of the following which one
is nmot the stage of creativity
prescribed by Gordon in  his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar

(3) Deferment

(4) Concept formation
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18, FUHY TaEN F Y R F@w O

19.

g7

(1) 10 ¥ 12 of
(2) 6" 12 a9
(3) 11 9 16 T¢
(4) 8 § 10 af

ﬁ#ﬁmiiﬁﬁmmqmjaﬁ
feeqresT qOET & YHR T8 T 7

(1) 3Tt orew Tteyor

(2) e F =H [EomET qleo
(3) & Fmiore=T gl
(4) 99 QAT qlerer

20. S O & SgaR F= fh oy

21.

i ¥ o o R F § 7

(1) 67 8ad
(2) 89 10 a4
(3) 7@ 9a¢
4) 119 1435

e fpeq @er o1 & ‘uw @k 39

o # g @ ¢ R @e
I w9 F o e @ 8 7

(1) &5 (2) fsawaH
(3) afeEH (4) T
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17,

[R]

Out of the following which onc

characteristic gror suits 1o gifted

children 7

(1) Learn rapidly and easily.

(2) Perform difficult mental task.

(3) Knows about many things of
which most of the students arc
unaware,

(4) Much drill is required to retain
what he/she has heard or read.

What is the age range of puberty
stage 7

(1) 10 to 12 years

(2) 6 to 12 years

(3) 11 to 16 years

(4) 8 to 10 years

Out of the following which one is
not the type of performance test of
intelligence ?

(1) Army alpha test

(2) Koh's block design test

(3) The cube construction test

(4) The pass along test

According to Jean Piaget between
which age the child develops
abstract reasoning ?

(1) 6to 8 years

(2) Bto 10 years

(3) 7to 9 years

(4) 11 to 14 years

Who stated that "An individual is
intelligent in proportion as he is able
lo carry on abstract thinking" ?
(1) Terman (2) Dearborn
(3) Buckingham (4) Calvin *
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22, g @ WRIC - |
T T
mﬂﬁﬁ e
(1) Giafs Rata
(2) |iARE TN
(3) wifE e
(4) |iafE et

_2.5_- Frfifed & & 9@ o
P T S ) tige a9 3
Rie SwgF 787 & ? 6T W &

¢ W &
(2) Rt & gt & awx 3

(3) T9I€r gHEN
(4) = 7 foare-fmet
2a. Aot @
T ST T B
) 12 2) 10
) 29 () 31
ST AT 8 P
(1) g0 o UFEEH
(2) UwritSil
(3) &
(4) sHie

26. TRAMRRS dwiis & AR fHad
fepar &1 ?
(1) Fo go YIS
(2) So To ARFAL
3) 3o Hlo EEIF
(4) Sito THo qET
Level-2/201

22.

23.

of releasing the
suffocation and
|dren called ?

What is the process
hidden emotional
powers inside the chi
(1) Emotional stability
(2) Emotional sensitivity
(3) Emotional catharsis
(4) Emotional competency

he following which one

Qut of h o
not suitable for satisfying

activity is
the instincts curiosity ?

(1) Awarding positions in the class

or school

(2) Answering 1
students

(3) Problem solving

he questions of the

(4) Discussion in class
cards prescribed in

24. How many
Rorschach Ink Block Test ?
(1) 12 (2) 10
(3) 30 (4) 31

Who is known as father of

Educational Psychology ?

(1} E. L. Thorndike
(2) Pestalozzi

(3) Herbart

(4) Froebel

Who invented sociometric technique ?

(1) J. E. Anderson
(2) J. L. Moreno

(3) E. B. Hurlock
(4) G.S. Marmor
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[A]

Which is the fourth stage of psycho-
social development of an individual
according to Erikson ?

(1) Intimacy v/s isolation

(2) Identity v/s role confusion

(3) Industry v/s inferiority

(4) Generativity y/s stagnation

According to 'Ross', which stage of
development is known as 'Pseudo
Maturity' stage 2

(1) Infancy

(2) Childhood
(3) Adolescence
(4) Adulthood

When a person tried to make his/her
thoughts and action according to
other whom he like to follow, then
this kind of activity called which
type of defence mechanism ?

(1) Identification

(2) Projection

(3) Rationalisation

(4) Displacement

Which one of the following is not

the common speech disorder of
childhood ?

(1) Foit Bt FH (1) Depletion of Energy

(2) qerarr (2) Lisping

(3) e IR (3) Slurring

(4) &Il (4) Stuttering
Level-2/201 :

P.T. 0.
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‘ A1 - I (PART - IT)
(R $#5f) [ LANGUAGES (HINDI & ENGLISH) ]

fe=it (HINDI)

31.

R CC L RO e
aﬁﬁmﬁﬁwﬁgm%?

(1) ==9+q (2) %QN
(3) Qed (4) Hige

e faeq & ‘damts’ a3 7
(1) P T f 3

(2) A% g7 A A ¥ =

(3) & FF B T Aem A% & .
(4) TN T T F/E
i ) B == B o B o
oFATE 7

(1) g3&T - war

(2) e - Zan

(3) feim - &9

(4) GYUT - AT

34. FHE-fE # e § F-w FGEm

e ?

A1) BEHTT - BT O T A FHe

(2) g7 - 9 | 59 o7 aren
(3) =9l - 2w & @ A
(4) ugEfe - 9y & forg afg

Level-2/201

35.

36.

P & A fF-ar 9= ‘o I9E §
Rififg 72 & 7
(1) FTgarce
(3) orffem

(2) FFgeH

(4) SFTH

Bt ¥ @ A [ @ P T

7

(1) ‘= % F=re @E gt B

(2) frept egfy @t T AfEER aon §

© & AR R

3) g o @@ # wd @W A
o B

(4) 'z o @ Sfera avf FEa

B Rrmer 3 gt 9= fRww § 7

(1) @rofara, "4, 99+

(2) FAMR, arfoafR, FeF!

(3) T, ST, WA

(4) FremT, &, BHal

TagEEl = F e 7§ FeT [He
g

(1) 59 - gram, o, arfi

(2) 3EHR - 29, 30, 42

(3) B - 0w, 7@, 9

(4) Fra - Brash, wggm, afedg
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warT g ¥ 7 mﬂ
(1) ¥ A et T8 qaean,

A2) T 9N IR F T AN AR
(3) B H AT T

(4) RAw S8 T ¥

‘R & T A wmm & @
B ¥ I Y N wem e
gﬁm:

(1) 30 B RS F "o

(2) gUSI AR A2

(3) ¥R RBF i 9 R Sy <

(4) W % W el $ Tm

a1 B A T wd A onghry 7

(1) Torl g @@ e a5 2
(2) ¥ oo FH & @ g

(3) Rraa o @ &, w2
(4) 7T FB A A7 T8 oW T

42. foeiH w= # o3 A oglam g

[A]

%7

(1) P ge qx R @ O -
- oS
(2) T TF B gy e -
) Fencllen|
(3) T & A% g wr B -
qFH® A
(4) 98 Euwm § s @FT ECW-

qeehIfer fRar

9. B % e A A g G

49, Tt P 3 - ogfiT® 2

(1) 2R = 3 + T
(2) sndidem = ot + @==
(3) T = + @

(4) TU=E = QU + 9gf

5. =1 H A 50 gEat & o @@ 78

T 7
(1) Bd 9% T_W AT -

FOA TG oA
(2) o & A - gu A
(3) X # =T O a% ot -

Y HioA IREH HE

e - (4) ot 1 P B - T g A

(2) g - FsEfE

(3) forege - e

e ‘?EJ,T- E@ —
Level-2/201
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[A]
3ol (ENGLISH) .
Direlcﬂon : Answer m% dns ;bysefecﬂ'igt_hf_"_’ft appropriateoption.
46. Choose the correct option 1o fill in 49, Select the correct option (Phrasa]
the blank : Verb) for the underlined word : .
This pen is both good ... cheap. She rejected his request to take her
(1) as well as home.
(2) as well (1) turned up
2) turned down
(3) but only @)
(3) turned out
4) and
@ (4) turned off
47. Select the appropriate preposition to s0. Sclect the appropriate modal to fil]
fill in the blank : SRR W ety
His hut LS hOtEI Tﬂ-] Trespassers ........... be pl'niShﬂd,
(1) above (legal notice)
(2) out (1) shall (2) may
(3) besides (3) should (4) ought to
(4) ‘beside 51. Choose the appropriate preposition
to fill in the blank :
48. Choose the correct meaning of the What is the time your
underlined words : u-'-ﬂ;‘h :
The law and order situation will only | :
; . (1) in (2) from
become worse in the state due to the
riots, if the government does not do (3) by (4) on
something right now to nip it in the s2. Sclect the correct option (Phrasal
bud. Verb) for the blank left in the
(1) To plan in detail to stop a threat sentence .
- ; ) ra has i s village.
(2) To destroy the problem in the Cholera has . -+« in this Village
initial stage only (1) broken oul
(3) To arrest the culprits (2) broken down
; o ¥ (3) broken u
(4) To stop something harmful in i MEESSSE
(4) broken ofl

the initial stage

Level-2/201




53. Choose the

Join Telegram Group "Haryana'Jobghﬂ-muwm——-——.

ol Part of the sentence
which is incorrect -

c reside

made
(a)
Rakesh a M. P. candidate
(b) (c)
(d)
(1) a (2) b
(3)%c (4) d

Choose the part of the sentence
which is incorrect -

He did not keep his words
(a) (b)
to pick him up from WTP,
(c) (d)
(1) b (2) ¢
(3) d (4) a

Choose the correct tense form to fill
in the following :

I had consulted my lawyer before 1
c+veee.... the complaint,

(1) did lodged
(3) lodge

(2) had lodged
(4) lodged
Choose the appropriate modal 1o fill
in the blank :
He listen to the stories of
his Grand Ma before he slept.

(Past habit)
(2) shall
(4) might

(1) could
(3) would

Level-2/201

[13]

58.

59.

o R

- i i

60.

[1!;1
?hﬂﬂsa the correct
underlined words -
The  hostess

meaning of the

broke the ice by

Introducing the gyrangers to each

other, ;

(1) To make people relax with each

: other

(2) To make people perplexed with
cach other '

(3) To serve welcome drink to the
guests

(4) To start a game of puzzle

Choose the correct tense form to fill
in the blank ;

Municipality has decided to ............
the overhead wires.

(1) did away with

(2) do away with

(3) has done away with

(4) had done away with

Choose the correct option for the
following :

One who wastes a lot of money 1s :
(1) frugal (2) recluse

(3) prodigal (4) reticent

Select the appropriate modal for the
cxpression given :

Harish has annoyed his boss today.
He ........ be fired soon. (probability)

(1) may (2) can

(3) oughtto

(4) would
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97T - II (PART ~ ID)
1 "M a7e79 (GENERAL STUDIES)
AR Qeell, T ST qup ey s @ (QUANTITATIVE APTITUDy
REASONING ABILITY AND G.K. & AWARENESS)
i T B 377 3 3 oyt afe AF JTY :
rection : Answer the following questions by selecting the most appropriate option.
=~ O"lowing que: the mos =
6l. TF T H T=E 6 1. The length of a wire is 66 meyg
i § 99T S SRR ?ﬂg > ?-I‘F%s;g o then the number of circles
GCET ROl circumference 1.32 cm that can b
1 : ' : . made from the wire 18 :
e (¢) 50 (1) 1000 (2) 50
(3) 500 (4) 5000 (3) 500 (4) 5000
62. 140 WX TR W % =@ 62. A train 140 metre long is running 4
60 it /e %, & 260 drey = 60 km/hour. How much time wil|
e @O w3 e T take to pass a platform 260 meyr,
I ? long ?
(1) 188F°  (2) 24 Aave (1) 18 sec (2) 24 sec
(3) 30 §vE (4) 32 Tovg (3)- 30 sec (4) 32 sec
63. TH FHUSl fosbam 33 ey FILST FEHT, 63. A cloth merchant on selling 33 metrg
11 feX FR 3 ffy T $ quaE] of cloth obtains a profit equal to the
TH AT BT AT R, A IEw A selling price of 11 metre of clot,
: The profit percentage is :
(1) 11% (2) 22% (1) 11% (2) 22%
(3) 50% (4) 40% (3) 50% (4) 40%
B4, IR 4 3o9 I 6 HieA o Fd @y 7 64. I 4 men or 6 women can do a piece
e gfafee & w5 12 Bt & w7 of work in 12 days working 7 hours
TqEG E, O 39 I @ T 981 F1E a day. How many days will it take tg
10 969 a1 3 Afgem g gu Hﬁrﬁ"r[ complete a work twice as large with
F F13 Fay ﬁ:ﬁ‘ﬁ' Tﬁ?{ﬂ? 10 men and 3 women working
{ k EURAS L together & hours a day ?
(1) 6 (2) 7 (1) 6 (2) 7
) 8 (4) 9 (3) & (4) 9
65. I -
e x = =5 B, @ x®+2x 65. [f ]—J—,_j. then the value of
F AN B 5 o
X £X a 15
“:}“ (2) 1 | (1) 0 (2) 1
(3) 4 (4) 2 : (3) 4 (4) 2

Level-2/201




(2) 600 B’
(4) 900 &’

g # drar m fom 3 1:3

¥ ;f;ﬂgmaz:s | =9 A
FIE & fywm sm

afe & fiy q R om Ry oW

3!3'1!?[3:831'5‘[&7

(1)3:5 (2) 4:9

(3) 4:7 (4) 3:8

: AT & o
H W R AR W s g
?

B T H, A A 5w gt
(1) grer (2) @
(3) s (4) 99T 92

71. ™9 2 § e dEn a9 Fitw
135, 226, 353, 552, 739

(1) 353 (2) 226
(3) 552 (4) 739
Level-2/201

The perimeter of a rhombus is

100 em and one of its diagonal is 40
cm. Then its area is -

(1) 300 ¢m?
(3) 780 cm?

(2) 600 cm’
(4) 900 cm’

Two alloys are both made up of
copper and tin. The ratio of copper
and tin in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio
should two alloys be mixed. to
obtain a new alloy such that the ratio
ol copper and tinbe 3 : 8 9

(1) 3:5 (2) 4:9

(3) 4:7 (4) 3:8

A said "that boy is the grandson of

my mother's husband. | have no

brother or sister." How is the boy
related to A ?

(1) Uncle
(3) Nephew

(2) Son
(4) Cousin

71. lind the wromg number in the

following series :

135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 (4) 739
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12. ¥ 5,000 T 12% appfif
¥ ot e i
(€2 () req
(3) ¥96 (4) % 36

13. ﬁﬂwaﬁﬂ?rzﬁnsgi}% af o= o
Hﬁﬁﬂﬂﬁtl%q;qzﬁrmm
AR B B 12% g7 Ry o, A
W< HEN ey g ’
BIel T&m © ;W o §
(3) 270 (4) 300

o 98 o |

G4T. J9R, M20P, P41N. S00[ /
(2) M20P |

(1) J9R
(3) P4IN (4) S90L

# AR 19 ﬁﬁp%.ﬁmiﬂ%ﬂ@ |
faet & A9 5VS & R A emm |
JSIg S9% © |

(1) 361 FR°  (2) 286 A’ |
(3) 236 @d°  (4) 340 &’ |
76. IR UF AfEFT 8 B afaor F v |
T T geHd 8 B am R, g
94t AT gEET 10 B wear B o |
98 ool fag A B R & & 7 |

(2) ITT-gd |
(4) zfaor-uf¥gw

(1) gg-aferr
(3) ITT-gEor

Level-2/201

72. The difference

between Simplc
interest and the compound 'me"es:

compounded annually at the rate ¢p
12% per annum on ¥ 5,000 for (w,

years will be :
(1) T 72

(3) T 96
The sum of two numbers is 520, ¢

the bigger number is decreased by
4% and the smaller number jg
increased by 12%, then the obtaingg

numbers are equal, then smallg,
number is :
(1) 210

(3) 270
Find the wrong term of the following

(2) T 84
4) T 36

(2) 240
(4) 300

series °
G4T. JOR, M20P, P41N, S901.,

(2) M20P
(4) S90L

(1) JOR
(3) P4IN

The sum of IL.'!}gi}L breadth and
depth of a cuboid 1s 19 ¢m and itg
principal diagonal i1s 5v5 c¢m, then
Its surface area Is :

(1) 361 ¢em’ (2) 286 ¢m’

(3) 236 cm’ (4) 340 em’

walks & km
and

lowards
walks
walks

I a
South then
8 km. again
10 km. In which direction is he from

person
turns right

turns left and

starting point

(1) East-South  (2) North-l-ast

(3) North-South (4) South-West



79, a® W = 23, STRONG = 93, @

WEAK U= B
(1) 40 (2) 41
(3) 43 (4) 44
0GR Sa+—=5, W 9a° + ..
3a 25a°
qH R
51 29
[y = 5 =
(1) 3 (2) z
¥ 39
) —— (%) —
5 5

gl. At faadl & fEr 3 e W
‘gerE fqEaE wF e & aed d
A aret TR

(1) 11,000 & (2) 21,000 &1
(3) 31,000 W (4) 51,000 TR
Level-2/201

‘1) "“ _:?..‘ b 'E.-"-".. o
A person walks 2 km towards
and then he tums 1o South and.
| km. Again he tums to East
walks 2 km after that he tums '
North and walk 4 km, Now how far

z2

is he from his starting point ?
(1) Skm (2) 6 km
(3) 3 km (4) 4 km

If W = 23, STRONG = 93, then
WEAK is equal to :

(1) 40 (2) 41
(3) 43 (4) 44
If SH+—1-=5. then the value of
3a
9a” + _1' =g
25a
51 29
1) — 2) —
(1) ; (2) .
52 39
) — 4y —
(3) S (4) 5

. The amount which is given to the

sports woman on the occasion of
marriage  under . 'Mukhyamantri
Vivah Shagun Yojna':

(1) Rs. 11,000 (2) Rs. 21.000
(3) Rs.31.000 (4) Rs.51.000

P.T.O.




[A]

82. 1857 I 2
m&:%%m@%‘@ﬁ@
(1) TETE A (2
(3) T & §4;‘?ﬂ§@?’r{§

L 2) 18
Fal)-2t (4) 24
84. frafifed § d @ efamy 3
oAy & R Ty @ § 7 SEULED
(1) dto To Tpadt
(2) To Ao feed
(3) ST gerfegr
(4) 99 RiE G
85. AT HR™ smEd 3

(i) ge= st 3

(ii) ‘e SE 1 o B

AT |
(1) %l F47 (i) Té &
(2) Fad F9 (i) qe1 2
() F&G) I T AGi)T@E 2
(4) 3 Fa7 TEl B
86. ‘T ! 2
o ﬁ?mﬁwmﬁw
(1) Yorae H
(2) Sfarer H
(3) &= A
(4) FeT9TE §

Level-2/201
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The hero of 1857 Revﬂluﬁ@-ﬁ'-
Abdurrahman Khan was related gy,
(1) Bahadurgarh (2) Farrukhnagar
(3) Jhajjar © (4) Yamunanag,

1d medals were wop

How many g0
'36th Naﬁﬁnﬂi

Haryana state in the

Junior  Athletics (’.3l‘lE?u‘rq:d«::.nship1
which was held in February, 202] o !
(1) 13 (2) 18
(3) 21 (4) 24

Who among the following wag g
longest serving Governor of Haryang

(1) B. N. Chakraborty

(2) A.R. Kidwai

(3) Jagannath Pahadia

(4) Kaptan Singh Solanki

Read the following statements abgy

Haryana Sahitya Academy :

- (1) The Chief Minister serves as the

President of the academy
(ii) 'Harigandha' is the Magazine of
the academy.
Choose the cerrect code
(1) Only statement (1) 1S correct
(2) Only statement (1) 1s correct
(3) Neither (1) nor (1) 1s correct

(4) Both the statements are correct

1\‘\ hc['l‘: th' Ii’\l:‘:\h'l.\_"':: i\.iurln'lagc

Harvana
¥ alkd w ad8 lad

site 1s located in

(1) In Palwal

(2) In Ambala
(3) In Hathi
(4) In Ballabi
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| - | [19] - [A]
| T. T
| 87. _ ﬁaﬂ T o4 s By forer ¥ feg & ? 817. II;‘.I \:hlc};: district the 'Chlnka!'a
et ) : reeding Centre' is situated ?
(l)_ . (2) uergam (1) Kaithal (2) Panchkula
(3) eI (4) Prar (3) Hisar ~  (4) Bhiwani
= Gl Eﬁ?ﬁ SERUI G 88. The minimum number of members
S in the Council of Minister of
: Haryana can be :
(1) 10 @)z %=, LAY @) 12
(3) 14 (4) 06 © (3) 14 @) 06
89. Iﬂ##';lia%itjg j A I/ ¥ g™ 89. }N;hichr of )the following pair/pairs
1s/are frue *;
(i) 9 9g — Far oo (i) State Animal — Black buck
(i) FEd a9 W9 TR — duq (i1) Saraswati Wild Life Sanctuary -
ithal
iii) BT 70 S AT — S
(ii) LA (111) Nahar Wild Life Sanctuary
E{?{fﬁlﬂ 1 Thajjar
il i Em S ] Choose the correct code :
(1) F D @) O M Gi) (1) Only (i) (2) (i) and (iii)
(3) (i) AT (i) - (4) %Eﬁ{m) (3) (i) and (ii)  (4) Only (iii)
90. fr=foifaa gﬁfﬁ? FIT 90. Match the following :
"qH o= Name Place
(A) W &l T‘T Hed 'U} ‘_ﬂﬁﬁ I (A) Birbal's Rang (1) Namaul
(B) areATo® (i) I st
#ﬂm (B)Y Spintual Museun y  Gurugram
(C) a-h: W {Ilt}w (C)y Chor Gumbad (i) Yamunanagar
(D) @& # Bew . (iv) T (D) Sohna Fort Panipat
& Code :
(A) (B) (C) (D) (A) () ( )
(1) @) (i) @Gv) (1) '
(2) (i) (iv) () (11) 2) (i
(3) (iv) (i) (i) () ) (N
(4) i) () ()  (Ov)
PT O

Level-2/201
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95. 'mém‘m&aﬂwiti‘?‘

w2, Preffte 3 3w s 7 ¥

(1) Yarfe= ﬁa
(1) g
(2) HERT ]
(2) sherd
(3) FEg
(3) #9
(4) fFrarafs
(4) w4

&ﬁoﬁwmﬁﬂﬁw

qeEH ¥
93. TS I=-FH W FF ¥ W T R

(1) X FA
(1) e-ga1
(2) EFT FA
(2) FoT-¥
- (3) dfa =@
(3) |9T-d9e
, (4) el T
(4) T9e-HER

Level-2/201



e

o TG T, ww o
78 G R AR 3 den A 7

(1) STEEar

(2 ©®H

@) |

(4) qHT

e & 38 & = g @
a7 2 ?

(1) Arde, fRFat
(2) R, 3%
(3) gfaar, REmt

(4) ATEHT, U9

Level-2/201

(1) Irege F1 & yEues Qe A
a

(2) &M FE H OTIH T AT
2

(3) TEE #F ¥ NS wedl
TE I B

4) &M FE & A
T A Aaa] Aoft &

P.T.O.
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() 3%, M, g= () widi @@ 7 a - R R @

@) de, &, S " af g E

i & sy 8

105. PR & & Row amg & ‘o 3
e T %0 %

(3) A w S (L - B 1

(1) o w25 W & @ ¥ g F T g i

2) ey HEUH
5 e (4) o 97 JA AN - AT-FHABT

(3) qadErE S ¥ rEE R ferdfy & g

(4) 95 a9E ¥ A WY
Level-2/201
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(%) o T () ST B s 3

(@) s - (i) Frw

(m) e (iii) smard T g

(@) demn
e
7 :
(®)
1) ii
(2) i
3) v
(4) i
Level-2/201

(iv) Regamg s fam
@ @ (@
i v i
i d v
i i
v i 1

PLEC AN S |
(1) Pfeeresr

(2) T A
(3) T 5 |
(4) dedg TwEY |

ﬁwﬁf@ﬁﬁﬂﬁmwﬂ‘ﬂgﬁ'ﬂ
qYF Ty B T 7

(1) el 3 Rew o=y 3 R
AT F

(2) 75T 9 B, By Sl 8 B

(3) 5 Fq, TF Fo= 79 2
TH|

(4) g59d 3 far e 58
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(3) flo ditsz auf

(4) o THEET i (2) g & e P e

maﬂhqﬁgﬂzﬁ"ﬂn@ﬁﬁm’

=g F -7 N g b (4) T gl & Wy T
N7, Frefefeg § & A faw % adr
(1) BT - g1 - &z - sfas T o 41 A o
(2) #a - FrE - FE - A ) %S
(2) % 9, §

(3) Rer - Ay - T -

¥ B)® T T
(4) 7 - 9d - fag - 7 4) 8 T

Level-2/201
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r_*_!:illr_ﬁf: :

%
t
3
5
A

Level-2/201

[A]

T & A ooy oy A
IS o & o gz 2@ Hi

(1) &
(2) Tersmamn
(3) ISk
(4) =HifFT

122. TEY WHOET 3 e ol &

ugq &Y ¥
(1) =

(2) HE9=

(3) AR

(4) aferE g

123, ‘AHT F HEY F g F99 e -

(1) SR S9ar & afd B

(2) AHE WA ¥ Yew WEAT S
& B B

(3) grEdaE AT 29 & AE S
et | ¥

(4) A e o 49w rEEd
U¥ T 1 F
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(3) TArEAI T
(4) WA TR

125. ‘S 96 FE, F FqI@ G
B &8 ol fh 7B
BFF E-3@ 3 qof
B 0% 99§ A =@
yege o R i A E 7

¢1) TaAY T FFEAl
(2) FEEr gH
(3) Ter Hear

(4) Fax AT

Level-2/201

YT A1

(3) we R JOT 9 g
| Fed @@ g9 9 &g
Mg wad gl S
wE fera-faeg &€ S

() P g A g, SR A
fBu =
g B A W A", GO S
B & Hel
|
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(4) g

129. Frfofag & @ mﬁ-ﬁq %
= ‘Sl 99 q9H F FErEr ¥ 7

(1) 3%, g
(2) FeTATTE,
(3) R, e
(4) SRR, T

Level-2/201

(1) =

(m) =g '(iii_} m 0 gw, ot
TR A o e
(%) o aw (iv) aft-Ry-ofr-fa @
t o A v

gz :

@ @ @® @
(i v i i
(2) i i v
(3) iv i i
(4) iii i v

Frtfoifeaa & & g o= & ‘F7° yod
78 ¥ 7

(2) gifed

(3) wers (4) goE

P.T-o-
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) = ¥ 7 gt

ROR. 2) 7&

() TR (4) T (2) T FeER 1T :
134, 'ﬁﬂmﬁmmw | ST ST
ﬁurm%ﬁmmﬁzﬂaﬁh (3)Tﬁﬁﬂﬁ |
(1) T 342
(2) FTBT 344 L
(3) =T 35] 138. Frefefas ® ¥ FRE WIUSUSTT @
(4) ITgBT 343 (1) dee Yo srosy A B 7
| (1) verdt (2) et
2 N (3) @Ea (4) 3fEA
;W!iﬂﬁﬂ@ﬂ“ﬁ@ﬂ 130, Freffefad & & ‘e ah
1
T
o 9 | B R
(1) @ 2) A o+ S
(3) Tewrar (4) gsmy (3) erSre (4) Wl
Level-Z/201
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mMMm:mmm
? ol s 3 g @ ey
& B

(4) T R, A RR & o
wIEg deft & R

142, FOYTN' FoA B e ¥
(1) gt
(2) wariERE fig
(3) AT rTET
(4) I SpEr

143. fr=fefaa & & fFm o= § <2 mem
78 %7
(1) Tfem
(3) arfdrer

Level-2/201

(2) gifd=r
(4) 9T

14}%1!:#?&&«;?&::&!'

‘FATET 9= # P gag 7
(1) g wog

(2) STy T

(3) TEAfE w9
t%ﬁ?gmmﬁ

146. ‘i AR PfE B 3 @ ¥

(1) ArEwee agde
(2) My Rie Reer
(3) GsTgAT e
(4) gaHT Bt Frer

P.T.O.
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&

i TeRdl gt # T @ @ @ @
Ty 9% iii ii i :_
(1) TF FeFt 78 o 2 - B : i i
(2) ST Far o | @) i i i v 8
(3) N T=E B Ry @ i v i i
() @ R

149, ‘T R v o owy @ 2 7
(1) =T
(2) SyeTTERT
o) s
(4) el

Level-2/201





